Vol.25 No.1 2003

ASR
*1 *2
ASR
ASR
ASR
ASR
ASR
ASR
ASR ASR
1.
ASR
2.
2.1
ASR
( ) ( )
ASR
(
D ) @1Is
A 1145) S, = 609 mmol/lI RC = 223
mmol/1
-1 ASR
ASR
8kg/m? NaOH
D6 D10 D13mm
2.2
ASR -1
-1
W/C s/a (kg/m®)
) )
53 42 164 308 784 563 563
1:1
*1 ( )
*2 () ( )
*3 ( )

-1535-



-1536-

40 50
0.15% 0.21% 2
(! 0 0 6 0 21 0.95% 510 D10 D13
5
2000 0'4Z/° . b6
0.15% 0.21% 450mmx 6 0.5% 1.06% D10 D13 D13
0.6% D13
0 0, 0,
300mmx 600mm 0.4% 0.5% 0.6%
300mmx 300mmx 300mm
2)
2
( )
-2
2.3
( )
( :100mm)
( -1 )
2
0.15%
0.21% 0.4% 0.6%
0.15% 0.21%
0.4% 0.6%
3.
3.1
1
-2 0.15% 0.1mm 0.15%
( ) 0.21% 0.21%
( ) 0.4% 0.6% 0.4%
0.15% 0.21% 0.25mm ( 0.5%



0.6%

0.1mm 0.25mm (

0.21% 0.6%
3.2
100mmx 400mm)
-3
ASR 2000
M
2000
2000
ASR
:0.15% 0.21%)
( :0.4% 0.6%)
3.3
200p  300p
3.4
3.4.1
0.15% 0.21%

0.15% 0.4%

(100mm x

2002
50 800 1000
2002
1000y
2002

-1537-

0.15%

0.4%

0.6%

‘_-—-—n—..

—o—2002 (0.15% 0.21%)
2000 L 0= 2000 (044 06%)
16001 L

o

= 1200 d

v

800 N v
y jﬁVﬁVv/zy\//

4004 v / v v

[ o°

0+——"— T T T T T Y
0 20 40 60 80 100 120 140 160
()

2400+ ‘
N 00
"

-3



150
( ) S
0.15% 0.21%
0.4% 0.6%
0.4% 0.6
0.15% 0.21%
0.21%

0.4% 0.6%

0.15% 0.21%
0.4% 0.6%
-6
1
3
3.4.2

-1538-

—e— 0.15%
800 | —=— 021
+8g°2 /D\D\
_ 6009 —o—o6% /E\D\ A
I /A=
= 400 E?O\éﬁ/ . .><g
7
2001 Qe
=Oome—®
Oj\j‘%?ﬁﬁ’
_2 O' T T T T T 1
0 20 40 60 80 100 120 140 160
()
-4
2000+ v
2 1600- / o 7
1200+ L SN
800
400
v
0

0.15% 0.21% 0.4% 0.5% 0.6%

2400+
L]

2000
~ 1600+ e
=2 v/ v &
1200 /
v oo
800{ v .-
o
400+

0.15% 0.21% 0.4% 0.5% 0.6%

-5

6000
]

50001
40001 R=
2 2 /8:8/ X
= 30001 § rsad

O -Bg

2000+ mééf;wg\@\uﬂ/ )
1000- ﬁﬁ@‘%ﬂm
OA

0 150 300 450 600 750 900

6000- ]

—0— 04% o0
50004 | —&— 0.5% .
—0—0.6% o, g
4000 Ao
3 ﬁp AL
= 3000 1 N s A
1 A AN
20001 g7 & K

_0-0—
g :E{AAAAf@O@\co\O-O/O 0-0-~o0
1000 0o " PS
OA

0 150 300 450 600 750 900
()
-6



-7
150 0.15%
0.4%
0.15% 0.4%
0.4 0.6%
-8
ASR
-9
0.4% 0.5%
0.6%
ASR
0.6%
0.4%

-1539-

16004

14001| o= S50 °
e
e 4| —o— 0.6% e o0 ®

800 // /

600 /

400+ / N —4

200 /g;@fﬁ AD/H DDA Ai

0{ om-®
-200+— : : : : : T .
20 40 60 80 100 120 140 160
()
-7

0% ]
__3000{ V
=2

2000

1000 © v

’ \0¥0
—— 150
—— 900 v
-1000 , : :
0.4% 0.5% 0.6%

4% ]
3000
=

2000

1000

o
0‘ %V/@
-1000 , ¥ :
0.4% 0.5% 0.6%
-8
12000+ v
-
_10000{ g—
= 8000

6000+

a000| o © ©

2000 —O— 150

—— 900
0 , : :
0.4% 0.5% 0.6%
-9
3.5
( 0.4% 0.6%: 90 0.15%



150

0.21%:
-10

ettt et
i

2500+

1500p

1000y

2000+

= 15001
1000
5001

ASR

1800y

0.15%

-10

3

(2) ASR

ASR

ASR

®

3.6

ASR

(4) ASR

ASR

ASR

1)

Vol .40 No.6

pp.3-8 2002.6

ASR

2)

Vol.21 Nol pp.371-376

@

1998

ASR

3)

Vol.23 No.2 pp.595-

600 2001.6

-1540-



